TERMINAL ENGLOSURES

Quarter Turn Latch Terminal Enclosures

The VC4X6 & VH4X6 increased safety enclosures are cULus, ATEX, GOST, and IECEX certified to house terminal block assemblies
in Exe rated Zone 1 & 2 hazardous locations. The completed enclosure line includes 13 standard VH sizes and 24 VC standard
sizes. Adalet also offers the option for custom sizes to meet most specifications.

z
n3
Zm
o>
—wm
Om
»wo
c

SOl
mz
P m
_|
—<

The enclosures feature a continuous one piece silicone gasket which provides an IP66 ingress rating for dust-tight and water-
tight locations. Standard lift-off door hinges are included for easy removal of the cover. The quarter turn door latches are
designed with security in mind and include a double bit insert. Mounting feet can be oriented in either horizontal or vertical
directions and an internal / external earth stud is included as standard. The enclosures are equipped with a painted steel
mounting panel for mounting DIN rail and terminal block assemblies.

STANDARD FEATURES

» 37 standard sizes available
e Stainless steel quarter turn latch with 3mm double bit insert (includes key)
e Continuous one-piece water tight silicone gasket
e Lift off door hinges

* Painted steel mounting panel

e Ground stud on box and cover

* External earth stud

¢ Wall mounting feet (vertical or horizontal)

DESIGN FEATURES

e Gland plates (6” deep or greater) can be supplied pre-drilled
or blank for field drilling

* Drilled entries and cut-outs

¢ Breather / drain

* Stopping plugs

* Terminal block assemblies

e Stainless steel mounting panels

e Cable glands and conduit fittings

 Internal earth bar

e Custom sizes

MATERIAL

e Type 304 or 316L Stainless Steel

* Enclosure and cover constructed from 14 gauge (.075) stainless steel with #3/4 brush finish
* Gland plates constructed from 12 gauge (.1054) stainless steel with a #3/4 brush finish

* Silicone gasket constructed from %" Bisco silicone with acrylic PSA

* Gland plate gasket constructed from ¥s” Bisco silicone with acrylic PSA

ADALET.COM
©Adalet ADALET ENCLOSURE SYSTEMS | 4801 WEST 150TH | CLEVELAND, OHIO 44135



VH4X Series

Mounting feet on left and right of enclosure.

TERMINAL ENCGLOSURES

N
Ll
o
2
2
o
—
O
=z
L

VC4X Series

Mounting feet can be on left and right OR top and bottom of enclosure.

>
—
L
L
<C
n
(@)
L
0
<t
Ll
o
O
=z

MATERIAL MATERIAL
¢ Enclosure & cover constructed of 14 ga. (.075) 316L ¢ Enclosure & cover constructed of 14 ga. (.075) 316L
stainless steel with #3/4 brush finish stainless steel with #3/4 brush finish
¢ Optional gland plate constructed of 12 ga. (.1054) 316L e Optional gland plate constructed of 12 ga. (.1046) 316L
stainless steel with #3/4 brush finish stainless steel with #3/4 brush finish
e Cover gasket: V4" thick Bisco silicone with acrylic PSA, Part #HT805A e Cover gasket : ¥4” thick Bisco silicone with acrylic PSA, Part #HT805A
¢ Gland plate gasket: ¥s” thick Bisco silicone with acrylic PSA, Part #HTS05A e Gland plate gasket : ¥8” thick Bisco silicone with acrylic PSA, Part #HT805A
OPTIONS
—_— OPTIONS

Optional pressure sensitive adhesive gasket
material, Part #HT8055
Optional Quarter Turn Inserts:
- Slot

- 8MM Hex Socket

- 7TMM Triangle

- 8MM Triangle

- 7TMM Square

- 8MM Square

- 5mm Double Bit

- Bellcore 216

- Railway standard

CERTIFICATIONS

POPULATED ENCLOSURE
Class |, Division 2, Groups A, B, C, D
Class ll, Division 2, Groups F, G
Class |, Zone 1, AEx e I T6 (T5 Tamb +55°C)
Ex e Il T6 (TS5 Tamb +55°C)

NEMA Type 4X, 12, 13

C€0539 & Il 2GD

IECEx UL 08.0012X

IECEx Ex e Il T6 (T5 Tamb +55°C)
IECEX Ex tD A21 IP66 T200°C

Ex e Il T6 (TS5 Tamb +55°C)

Ex tD A21 IP66 T200°C

DEMKO 09 ATEX 0803119X

e Optional pressure sensitive adhesive
gasket material, Part #HT8055
¢ Optional Quarter Turn Inserts:
- Slot
- 8MM Hex Socket
- 7TMM Triangle
- 8MM Triangle
- 7TMM Square
- 8MM Square
- 5mm Double Bit
- Bellcore 216
- Railway standard

EMPTY ENCLOSURE @

Class ll, Division 2
Class |, Zone 1, AEX e Il
Ex e Il (Canada)

®
NEMA Type 4 N
s c us

DEMKO 01 ATEX 0112700U

C€0539 & 112GD

Exell @I'
Ex tD A21 IP66

IECEx UL 10.0021U

Exell C@US

Ex tD A21 IP66 LISTED

SEND ORDERS TO ORDERS@ADALET.COM

T:216.267.9000 | F:216.267.1681 | info@adalet.com ©Adalet



TERMINAL ENGLOSURES

JI} ° o PN
W
- 3/8-16, 55302
e rl es o| o COLLARSTUD, QTY. 4,
Z ADALET PART #M1420-2
(@)
Mg Mounting feet on left and right of enclosure. ° ° ° S
[>:
pzd m s
O > ‘COVER GROUND,
—w 1/4-20x1/2 CDSF STUD SECTION A-A
o I-l-l ADALET PART #M1420-1
® o
(e 10127]
SOl s 113(286] C 7\
m b GLAND PLATE 204[518] REF.
1) M SIDEA b -‘— —=B
m
— ) ° ° q ‘ ] ° ° °
< 3 [l I
o o [ [+ o
GLAND PLATE -~ GLAND PLATE -~
SIDEC \ SIDED ™ \
[} o q o o
< @
o o [ o o
o o [ o o o
7 1 g
o A A g
o X o
o [-) o 1 o o o
L © E E] H
& | Yl
[ I
QUARTERTURN, / LeB
T —] EXTERNAL GROUND, e e e 056 INTERNAL GROUND, —~ l=115m20376)
g 1/4-20x3/4 CDSF STUD (SEE CHART FOR QTY. 1/4-20x3/4 CDSF STUD
el ADALET PART #M1420-3 AND OPTIONAL INSERTS) ADALET PART #M1420-3
6.25 (1588 MAX. DISTANCE
s — ﬁ' BETWEEN BOLTS
T
T®— — @ __ _—©__ _ - GLAND PLATE
’_ # _‘? r SIDEB
i \/J?L
19 \
\ A somswmss i
il ..ér._ - _f?‘;‘_ - __é: - _é‘ WASHERS
11/3226.2] —
1423600 —f E = H
[ =) U i = BE —_{_E
T =
= =] 44x91 ‘
[11.1x23.0] |
MTG SLOT
(2PLCS)
= =
o i\
= =
- —p
2365
Gn3d
§2gz
£5¢
B, e R i
i i
—
g SECTION B-B MOUNTING 112 [is.;] MOUNTING FEET E
o PANEL (4) PLACES E
] ]
ADALET.COM
©Adalet ADALET ENCLOSURE SYSTEMS | 4801 WEST 150TH | CLEVELAND, OHIO 44135




TERMINAL ENGLOSURES

>
|_
e
<
o0 X

D
([N
w o
(<,E)_I
LS
0o g
(@]
<

Collar Stud  Grd. Stud Mounting #Qtr.  Quarter Turn

Catalog Number Enclosure Dimensions Spacing Locations FeetSpacing  Turns Locations
ENCLOSURE A B C D E F G H L K
VH4X6-101006 10.24 10.24 6.30 7.40 7.40 3.15 6.24 11.74 1 5.12 -
VH4X6-101008 10.24 10.24 8.07 7.40 7.40 4.04 6.24 11.74 1 5.12 =
VH4X6-121206 1205 1205 6.30 9.22 9.22 3.15 8.05 13.55 1 6.03 -
VH4X6-121208 1205 12.05 8.07 9.22 9.22 4.04 8.05 13.55 1 6.03 ®
VH4X6-151006 1496 10.24 6.30 12.13 7.40 3.15 10.96 11.74 1 748 -
VH4X6-151008 1496 10.24 8.07 12.13 7.40 4.04 10.96 11.74 1 748 °
VH4X6-181506 18.03 15.04 6.30 1520 1221 3.15 14.03 16.54 1 9.02 -
VH4X6-191908 18.90 18.90 8.07 16.07 16.07 4.04 14.90 20.40 1 9.45 =
VH4X6-201406 19.68 13.78 6.30 16.85 10.95 3.15 15.68 15.28 1 9.84 -
VH4X6-201408 19.68 13.78 8.07 16.85 1095 | 4.04 15.68  15.28 1 9.84 -
VH4X6-241808 24.41 17.72 8.07 21.58 14.89 4.04 2041 19.22 2 - 3.53
VH4X6-292208 2913  21.65 8.07 2630 1882 | 404 | 2513  23.15 2 - 3.53
VH4X6-302008 30.00 2000  8.07 2717 1737 | 404 | 2600 2150 2- 3.53

NOTES  Optional Gland Plate Suffixes:
-A: Gland Plate On Top Side
-B: Gland Plate On Bottom Side
-C: Gland Plate On Left Side
-D: Gland Plate On Right Side

*Omit dashes when multiple gland plates are installed.

SEND ORDERS TO ORDERS@ADALET.COM
T:216.267.9000 | F:216.267.1681 | info@adalet.com ©Adalet



z
n3
Zm
o>
—wm
Om
»wo
c

SOl
mz
P m
_|
—<

TERMINAL ENGLOSURES

) )
- 3/8-16 x 5/8, 55302
vcaxs se r o o COLLAR STUD, QTY. 4,
I e s ADALET PART #M1420-2
. o o o o
Vertical Mount v
COVER GROUND, SECTION C-C
. . 1/4-20x1/2 CDSF STUD -
Mounting feet can be on left and right OR ADALET PART #M1420-1
top and bottom of enclosure.
GLAND PLATE P 11312861 Q 141341
SIDE A : 204 1518) REF. R
= TYP l—'| >
= = -
) o ) q | I ) o )
e ~
o o q (d o o
GLAND PLATE — GLAND PLATE —
SIDEC \ SIDED I~ \
o o q (d o o
= @
o o q p o o
(-] o q | - (-] o
e C | c a8
] [] ] q Ip . N ) [] ]
© = }
I =N N : f 1
QUARTERTURN, / L L= D
- H30, 3MM, DBL BIT,
F—_1 — EXTERNAL GROUND, ADALET PART #M21056 INTERNAL GROUND, — 115/32(37.6]
Y 1/4-20x3/4 CDSF STUD (SEE CHART B FOR QTY. 1/4-20x3/4 CDSF STUD
8 ADALET PART #M1420-3 AND OPTIONAL INSERTS) ADALET PART #M1420-3
19/32115.11 . 6.06 [153.9] MAX. DISTANCE
BETWEEN BOLTS
- [P — cLano pLate
SIDEB
p
1/4-20 SS HEX HEAD
BOLTS WITH SS FLAT
b WASHERS
11/32(26.2]
®44[11.1]
142(360]  —f s — X w MTG. HOLE
(2 PLCS)
o o e o
d= g U U [i = q i WY
MOUNTING FEET  —]
(4) PLACES
[ =] = g P
a—| =] g B
« >
L= = g ]
a—| =] g B
'\ T q P
: | ? il il | - ] =
A Il A
T ' A 44x.84
5 SECTION D-D | 200(50.8] || nrax2ra
8 MOUNTING REF. MTG. SLOT
= PANEL T e (2 PLCS)
g 2
ph BE
=
ADALET.COM
©Adalet ADALET ENCLOSURE SYSTEMS | 4801 WEST 150TH | CLEVELAND, OHIO 44135



TERMINAL ENGLOSURES

>
"
T2
< W
o0 X
o]
Qw
wo
(<,E) —
(&)
w =
0
(@)
Collar Stud  Grd. Stud Mounting Quarter Turn =z
Catalog Number Enclosure Dimensions Spacing Locations Feet Spacing Locations -
ENCLOSURE N P Q R S T v w X Y z
VC4X6-090605V 9.00 6.00 5.00 6.17 3.17 2.50 10.24 3.50 1.25 1 4.50 -
VC4X6-120806V 12.00 8.00 6.30 9.17 5.17 3.15 13.24 5.50 1.25 1 6.00 =
VC4X6-121206V 1205 12.05 6.3 9.22 9.22 3.15 13.24 9.50 1.28 1 6.03 -
VC4X6-161206V 16.00 12.00 8.00 13.17 9.17 3.15 17.24 9.50 1.25 1 8.00 =
VC4X6-161208V 16.00 12.00 8.00 1317 9.17 4.00 17.24 9.50 1.25 1 8.00 -
VC4X6-161606V 16.00 16.00 6.30 1317  13.7 3.15 17.24 10.00 3.00 1 8.00 =
VC4X6-161608V 16.00 16.00 8.00 1317 13.7 4.00 17.24 10.00 3.00 1 8.00 -
VC4X6-162006V 16.00 20.00 6.30 1317 177 3.15 17.24 14.00 3.00 1 8.00 =
VC4X6-162008V 16.00 20.00 8.00 1317 177 4.00 17.24 14.00 3.00 1 10.00 -
VC4X6-201606V 20.00 16.00 6.30 1717 137 3.15 21.24 10.00 3.00 1 10.00 -
VC4X6-201608V 20.00 16.00 8.00 1717 137 4.00 21.24 10.00 3.00 1 10.00 -
VC4X6-202006V 20.00 20.00 6.30 1717 137 3.15 21.24 14.00 3.00 1 10.00 -
VC4X6-202008V 20.00 20.00 8.00 1717 177 4.00 21.24 14.00 3.00 1 10.00 -
VC4X6-202408V 20.00 24.00 8.00 1717 217 4.00 2124 1800  3.00 1 10.00 -
VC4X6-241606V 24,00 16.00 6.30 2117 1317 3.15 2524 1000  3.00 2 - 353
VC4X6-241608V 2400 16.00 8.00 2117 1317 4.00 2524 1000  3.00 2 - 3.53
VC4X6-242006V 24,00 20.00 6.30 2117 1717 3.15 2524 1000  3.00 2 - 3.53
VC4X6-242008V 24,00 20.00 6.30 2117 1717 4.00 2524 1400  3.00 2 - 3.53
VC4X6-242406V 2400 24.00 6.30 2117 2117 3.15 2524 1800  3.00 2 - 3.53
VC4X6-242408V 2400 24.00 8.00 2117 2117 4.00 2524 18.00  3.00 2 - 3.53
VC4X6-243008V 24,00 30.00 8.00 2117 2717 4.00 2524 2400 3.00 2 - 3.53
VC4X6-302008V 30.00 20.00 8.07 2717 1717 4.04 31.24 1400  3.00 2 - 3.53
VC4X6-302408V 30.00 24.00 8.00 2717 2117 4.00 31.24 1800  3.00 2 - 3.53
VC4X6-303008V 30.00 30.00 8.00 2717 2717 | 4.00 31.24 2400  3.00 2 - 3.53

NOTES  Optional Gland Plate Suffixes:
-A: Gland Plate On Top Side
-B: Gland Plate On Bottom Side
-C: Gland Plate On Left Side
-D: Gland Plate On Right Side

*Omit dashes when multiple gland plates are installed.

SEND ORDERS TO ORDERS@ADALET.COM
T:216.267.9000 | F:216.267.1681 | info@adalet.com ©Adalet



TERMINAL ENGLOSURES

3/8-16 x 5/8, 55302
COLLAR STUD, QTY. 4,

VCANG Series ° i

E ADALET PART #M1420-2
m % ] ) S S )
=g Horizonal Mount @ s
o>
—w Mounting feet can be on left and right OR s e STUD SECTION A-A
Om top and bottom of enclosure. ADALET PART #M1420-1
® o
C 10[2.7.
X U) 1.13[28.6]
B — c
m > GLAND PLATE 2.04(51.8] RER
wn M SIDE A vy -I— —=B
m -
— o ) o [ | | o o )
< ol
o o ; ; o o]
GLAND PLATE — GLAND PLATE —
SIDEC \’ SIDED N \
o [ q (] o (-]
\
< KOS
o o q p o o
o o o o (-]
g
L Ale (o] A 5
el 1 ] 2
© o o g | o o o
| © - = ?}
! |
t f
QUARTERTURN, _/ =B
T — EXTERNAL GROUND, e e 056 INTERNAL GROUND, —  l—115m2076
g 1/4-20x3/4 CDSF STUD (SEE CHART A FOR QTY. 1/4-20x3/4 CDSF STUD
8 ADALET PART #M1420-3 AND OPTIONAL INSERTS) ADALET PART #M1420-3
19/32 [15.1] — 6.06 [153.9] MAX. DISTANCE
BETWEEN BOLTS
- __ __—©- _ _ —©-_ _ P_— GLAND PLATE
- ——=F ? L s
| f
o o - /I/ s
9 *
|_— 1/4-20 55 HEX HEAD
| S S BOLTS WITH SS FLAT
q| tot- —&-- —@9- |p  WASHERS
11/32[26.2] — |‘_
1.42[36.0] —] E K
[ =) f T T li =p 285 |
[ 1
el —
II-: dlzl I '—lr'i"r
44x.91 \ H
[11.1x23.0] ‘l |
MTG SLOT
d- b @PLCS) 4
o ==
=] =P q
&s
28
={b o | g
Es
=) — f >}

I

MOUNTING FEET /

(4) PLACES

SECTION B-B L1 27/32 (47.0]
REF.

MOUNTING
PANEL

G
re
=

R

ADALET.COM

©Adalet ADALET ENCLOSURE SYSTEMS | 4801 WEST 150TH | CLEVELAND, OHIO 44135



TERMINAL ENGLOSURES

>
"
T2
< W
o0 X
-}
Qw
wo
(<,E)_I
O
=
[T
O
Collar Stud  Grd. Stud Mounting Quarter Turn =z
Catalog Number Enclosure Dimensions Spacing Locations Feet Spacing Locations -
ENCLOSURE A B C D E F H K G L M
VC4X6-090605H 9.00 6.00 5.00 6.17 3.7 2.50 1.51 5.98 8.19 1 4.50 -
VC4X6-120806H 12.00 8.00 6.30 9.17 5.17 3.15 2.01 799 1020 1 6.00 -
VC4X6-121206H 1205 12.05 6.3 9.22 9.22 3.15 2.03 799 1421 1 6.03 -
VC4X6-161206H 16.00 12.00 8.00 13.17 9.17 3.15 274 10.51 14.21 1 8.00 =
VC4X6-161208H 16.00 12.00 8.00 13.17 9.17 4.00 274 10.51 14.21 1 8.00 -
VC4X6-161606H 16.00 16.00  6.30 1317 1317 | 3.5 2.74 10.51  18.19 1 8.00 -
VC4X6-161608H 16.00 16.00  8.00 13.17 1317 | 4.00 2.74 1051  18.19 1 8.00 -
VC4X6-162006H 16.00 20.00 6.30 13.17 1717 | 3.5 2.74 1051  22.20 1 8.00 -
VC4X6-162008H 16.00 20.00  8.00 1317 1717 | 4.00 2.74 1051 2220 1 10.00 -

VC4X6-201606H 20.00 16.00 6.30 1717 137 3.15 3.03 13.94 18.19 1 10.00 =
VC4X6-201608H 20.00 16.00 8.00 1717 137 4.00 3.03 1394 18.19 1 10.00 -
VC4X6-202006H 20.00  20.00 6.30 1717 137 3.15 3.03 13.94 2220 1 10.00 =

VC4X6-202008H 20.00  20.00 8.00 1717 177 4.00 3.03 13.94 2220 1 10.00 -

VC4X6-202408H 20.00 24.00 8.00 1717 217 4.00 3.03 13.94  26.22 1 10.00 =

VC4X6-241606H 24.00 16.00 6.30 2117 137 3.15 3.24 1752 18.19 2 - 3.53
VC4X6-241608H 24.00 16.00 8.00 2117 1347 4.00 3.24 1752 18.19 2 = 3.53
VC4X6-242006H 24.00  20.00 6.30 2117 1747 3.15 3.24 1752 2220 2 - 3.53
VC4X6-242008H 24.00  20.00 6.30 2117 1717 4.00 3.24 1752 2220 2 = 3.53
VC4X6-242406H 24.00 24.00 6.30 2117 217 3.15 3.24 1752 26.22 2 - 3.53
VC4X6-242408H 24.00 24.00 8.00 2117 2117 4.00 3.24 1752 26.22 2 = 3.53
VC4X6-243008H 24.00 30.00 8.00 2117 277 4.00 3.24 1752 3220 2 - 3.53
VC4X6-302008H 30.00 20.00 8.07 2717 177 4.04 5.00 20.00 22.20 2 = 3.53
VC4X6-302408H 30.00 24.00 8.00 2717 217 4.00 5.00 20.00 26.22 2 - 3.53
VC4X6-303008H 30.00 30.00 8.00 2717 277 4.00 5.00 20.00 3220 2 = 3.53

NOTES  Optional Gland Plate Suffixes:
-A: Gland Plate On Top Side
-B: Gland Plate On Bottom Side
-C: Gland Plate On Left Side
-D: Gland Plate On Right Side

*Omit dashes when multiple gland plates are installed.

SEND ORDERS TO ORDERS@ADALET.COM
T:216.267.9000 | F:216.267.1681 | info@adalet.com ©Adalet



